
 

 

Answer on Question #58928 – Math – Trigonometry  

Question 

 

Solution 

If  𝜃 =
𝜋

4
, then 3√2𝑐𝑜𝑠𝜃 + 2 = 3√2𝑐𝑜𝑠 (

𝜋

4
) + 2 = 3√2 ∙

√2

2
+ 2 = 3 = 2 = 5 ≠ −1, hence 

 𝜃 =
𝜋

4
  is not a solution for the equation 3√2𝑐𝑜𝑠𝜃 + 2 = −1.  

Thus, the statement in question is false. 

Answer: False. 

Question 

 

Solution 

csc 𝑥 = 0,  

1

cos𝑥
= 0, 

Hence there is no solution to the equation csc 𝑥 = 0. 

Answer: True. 

Question 

 



 

 

Answer: The height of the water in Monterey Bay. 
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